בס"ד
 (
בהצלחה ל:____
___________
ציון:___
____________
)
1. הפרידי כל מספר למחוברים לפי המבנה העשרוני.
 (
_
___
_____
__
____
_______=97
) (
___
_____
_
____
________=
645
) (
_____
_____
__
____
_____=
904
)
 (
____
__
___
_____
______=
6,
07
8
)

2.  (
_
____
__
_
_
__
__=
50
×
40
)פתרי
 (
_
___
__
_
__
_
__=
6,000
×
9
) (
_
___
__
_
__
_
__=
10
×
605
) (
_
__
__
__
_
_
__=
2,000
×
4
) (
_
___
___
_
__
__
__=
8
×
70
) 
 (
_
___
__
__
_
_
_
__=
7
×
400
)


3. כתבי כל תרגיל במאונך ופתרי.
 (
__
__
_
__=
32
+
80
+
400
) (
__
__
_
__=
4+70+570
) (
__
__
_
_
_=
5,300+460+30
)





4.  (
_
____
_
__
___
__________________________
_
__=
9
×
35
)פתרי ע"י פילוג.

 (
_
____
_
_
___
___________________________
_
__=
18
×
6
)
 (
_
___
____
_____________________________
_
__=
5
×
88
)

 (
_
_____
___
___________________________
_
__=
4
×
236
)
 (
_
_____
___
___________________________
_
__=
7
×
407
)

5. פתרי את התרגילים:
 (
___
_
___
_
__=
910+
75
) (
___
_
___
_
__=
64
7
+130
) (
_
_
_
__
__=
3
2
0+24
)
